1. If Canadians do not improve their nutrition and exercise patterns:

a) What three pathologies will continue to increase (3 points) and why (3 points- give 1 point for why for each of the three pathologies)?

b) What three social/economic problems will likely happen (3 points) and why (3 points- give 1 point for why for each of the three pathologies)?

What can be done to encourage Canadians to improve their nutrition and exercise patterns (3 points)?

ANSWER

Lousy diets and exercise patterns lead to:

a) hypertension, atherosclerotic heart disease, type 2 diabetes - these 3 diseases, currently,  are most frequently the direct result of obesity brought on by not following the 6 dietary principles (e.g. overeating fat and simple sugars (e.g. in soft drinks) and not exercising regularly
which lead to socioeconomic problems of:

b) reduced productivity(due to sick young people and ageing population with age-driven disease),  2) increased poverty (due to people cannot work as productively and hence make less money) 3) less tax base (due to poor productivity) all of which lead to decreased pensions and healthcare
What to do about this?-1) set good examples of diet and exercise, 2) education on how to eat and exercise well regularly, 3) remind people of consequences when Canada did not have a publicly funded healthcare system and no public pensions (e.g. people deciding whether to eat or see the doctor and little money available to buy good quality food).
